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N.B, :— () Attempt All questions.,

(i) All questions enrry cqual marks,
(iéd)  First half an hour is reserved for MCC.
1y  Wd gra T,
(id) WA wwAEn wuE o ar,
(ire)  wiemn spd am MCQ @@ Tem .
MCQ 10
1. Multiple Choice Questions :
TJETArE g

(1) Which of the following is characteristic of urban community ?

(A) Secondary relation (B) Large size

(C) Individualism (D) All of these

AT AT weEE dfrel w2

(A) =M way (B) W@ F=w

(C) =AfFER (D) %=1 T3
(2)  Farmer is the beneficial of .................... Insurance.

(A) Car (B) Good

(C) Crop (D) None of these

‘i’lﬂ%‘ﬁ | R m IR LG m

(A) &R (B) =1

(C) fu= (D) a0« wE
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Who is the author of ‘Gawgada' ?
T N Atre tBY - Maohatmn Gandhi
A R Deeni

‘TETE ] SEF TN oI )

(MY Trnwnti Korve

Ay & @ = (B wrem i
(C) U . 2w (M a4
Status of women 1n rural society is ...
(A)  Equal By Low

(C)  Both (A) and (B (D None of these
(Ay =1 m

Cy 2 (A) | (B) my miE

(LE L

Mt

Which of the following measures is adopted to eradieate gender
inequality ?

(A)
(B
()
48 )]

Reservation

The Hindu Dowry Prohibition Act, 1961

The Medical Termination of Pregnancy Act 1871

All of the above

mﬁ&ﬁmmnﬁ-mmﬁ{mmmm:

(A)
(B)
(C)
(D)

Which of the following types of inequality is in Tindin 7

(A)
1Ch

A wrEEtE A wes ammEan ey ok

(A)
i

T =TT

o v afufam e
Azgem mimm afufym 19n
At wd

Social inequality ()
Economical inequality (D) All of these
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( 3 ) B—91—2017
Accerding to the constitution woman and man are ................. .
iA) Egual {B) Low
(C) Middle (D)  None of these
(Al WA B) fm
(C) =R (D) =R WE
Identify the correct pair of the following :

(A)  Sikh — Tripitak (B)  Jain — Mahabharat
(C) Islam — Hadis - (D) Parsi — Quran

(&) Fma - fGies (B) ¥ — wWavmA

(C) T=r1 — &M (D) e —

Which of the following impacts of urbanization is on Indian society 7

(A} Individualism () Consumerism

{C) Contractual relation (D) All of these

EEATA TR ARG MIEE A dE uME o ?
(A) =EdaEs (B)y  IgsiTEn
(C) s ® way (D) iy

Which of the following impaoets of industrialization is on Indian society 7
(A)  Emergence of class syslem

{(B)  Urhanization

(C)  Decline in Buluta system

D) All of the above

mrEtATER ST e TmaEdia une we
(A) AiorEavEn @1 (B) sl
(C) T TRHE oM (D) wha)

0.

L
HIABASOBAR IO SR S8 T2 O



W

)
Thaas
RNean 1N TR Phasaiiem iy

Indiamn Sareoy

R e . e S8y bl O

O

X We van o aowslily in ihe Tndisn sactiety
TR rroede AN
O
W (N TR Wehanisating on Indian ey
VIR o e vow fvx By
- WHR Shas mo MR B Al ke olloning
e Valgram Bl i
> Riren Smmaniyy
" e
&l Ghlalalisnting
TR et S S B
o uRe S
@ e woew
6 "
e snfetae
By payn

ﬂ'ﬁ!WMM?&'FI!H%M?‘EH?m

10

10



This MEHLION iy Chitkiing | Pritted pagesl

N—107—2018
FACUL Y QF

SOCIAL 35.'1#:?&1'!‘:}:
LA (Soco

wd Yeur) Thied Semester) EXAMINATION

VCTOBRR/NOV EMBRR,

WBCE Patterm)

018

SUCIOLOGY
Paper V
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Tame @ 200 pan. to 4.00 Py,
Time—2 Hours
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Maxunruer Marga—d
NEB — o a Questions are compulsory

D Al questions carey equal muarks.
L First half an hour s rode

W wd s sfmed ik,

rved for MOQs

G T s wE e s
G wieEn sl e MeQ wid gella Mg,
v el g9 el wy i,

MCQs 10
1. 1) Which the following is religious minerity in ladin *
(A)  Hindu (B dain, Bawdh, Pavsi
{(C)  Parsi, Jain, Hindu ) Hindu, lslam
TR R ik sevders w2
() fig W, wE, i
(C)  wrl, W, fig (D) féx, swam
P,
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What ia the main factor of soctal stratification i rural Indian sociey »

Ay Uaste B} Money
2y Cluss D} Power
VAT A e wenfaE wiwmam g wew s 2
Al =W (Bl %o
(Cy =l () wm
s - are the beneficiaries of "Crop Insurance Scheme' ?
Ay Teacher (B) Soldier
() Farmer (D) Loctor
CE e fam AR mE s

(A foiers By fifTw
(C)y  AFFEA m =
Which are the fallowing factors of changing nature of urban community ?
f&)  londustrialization (B} Westernization
(C)  Bath (A) snd (B) (D}  None of these
WAIATTR FIA G2H AN WEEEEE G9eTE wReihEm s ?
(A siredfrsEm (B)  wiv=mmegTs
(Cy = (A) snfm (B) (D) @i=! @
Which of the following is characteristic of tribal community 7
tA)  Dormitories iB) Cemmon name
(C)  Cammon religion (D} All of these
AT safrand wmeeE de w2
(A)  TATR (B) TWA =g
(C) U D) =9t w46
v depends upon Achieved Status,
fA)  Caste iB) Class
iC)  Both (A) and (B} (D) None of these

............... I(ﬂ 'ETFﬂH m NT’rllﬁT‘l a:"%.
(A) = (B) =
() T (A) wfor (B) (D) =9= T
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( 3 ) A—107—2018
Which of the following is cultural impact of Industrialization on Indian

society ?

(A) Changes in values (B) Changes in entertainment

(C) Both (A) and (B) (D) Bulutedari system

TIETEYH1 WA T FRghe Saade sieifiers wwe S 2
(A) THEE &&d (B) HAKeHla a&el

(C) =1 (A) i (B) D) IR TEa

Which is the unfavorable impact of globalization on Indian society ?
(A) Unemployment (B) Monopoly

(C) Flunder (Dy  All of these

STamE T YA Eeiads giome 99E Soal 2

(A)  FHrQ (B) TFiard

(C) TR (D) TSt 99

‘Crop Iansurance’ Scheme started in ...ccccceveieeeecs

(A) 1985 (B) 1960

(C) 2001 (D) 2017

A =) T gE 7t

(A) 1985 (B) 1960

(C) 2001 (D) 2017

Which is/are the factor(s) of ‘Community Development Programme ?

(B) Health

(A) Education
(D)  All of these

(C) Drinking water
‘g FEFIE "eF DI 7
(B) R

(A) Tam
(D) A=l

(c) fyugre groi
P.T.O.
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( 4 )
Theory

Explain the unity in diversity in Indian sodiety.

- - -
YRaiH HOlsmlo miedtae Usn =% &4

Or

-

(f==)

Write the charzcteristics in Rural Community.

= - = -

{

Pl T FE T TE =)

TG

State the objectives of Community Development Programme.

Or
(=)
Narrate the impact of Industrialization on Indian society.

-

Hinig SREEUn FHdimimasnD] asa 340G .

Write short notes on (any ¢wa) :
{a) Linguistic pluralism

(B) Urban community

(¢  Inequality

{(dy  Urbanization.

(z) wigw fEiaEa

(p) AT TR

(d Al
(dy T
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Time : 2,00 pa. to 400 pan,

Time—2 Hours

Maximium Marde- 410

N.B. — & Al questions are compulsory.

2.

©  w& v asforl e
() Tl g St v v
Discuss the unity in diversity in Indig, 1
WA fafavddte oY ww sl s
Or
(fran

Write a meaning of industrialization and explain the impact of Tndustialisation
on Indian society:.

sieifirwtomar snf form snfr shehfisdeton sty WRIMERE W T Wy,

Write the meaning of tribal conununity and explain the chamging natwwe of
tribal community. 14

far wpermen sief ferm anfor anfumit TN WO W W W,

PO,
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( 2 )

wT
Or
(fsam)
Explain the meaning of class and its nature.
T Y W wEd @EY G
3. Write short notes on :
(A)  Only one in ‘A’ Section :
) Linguistic pluralism
Or
()  Urbanization.
(B) Only one in ‘B’ Section :
() Community development programme
Or
(i)  Rural community.
drssgm few foar -
(1) ' T99TE OO
() i fafasa
ferar
(i) eI
(@) ‘I’ AW v TS
() HRE T wEEn
feRar
(&) T EHETE.
A—45—2019 2
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.-"

Time—2 Hours ,ff‘é“:%a\ﬂ -:?*'.-s.‘.i;‘ Fig Mﬁmmﬂw&s—-ﬂﬂ
N N D

NB. — () Al queahu:mig %}gqﬁgpglsqbﬁé ~\\ , '-':}":. .:: ;-‘

(I All quaatmna ﬁr.ril:'.:; ‘Eﬁllﬂwahr‘kﬁ- 3 i T

iy, e
(i) First. half &ﬂ hnﬁ.t m resérma fqr mcqs“. s
@ v v s aqr%ah"“\u RN IR
i P B .4 o - G5 ;1 Ly .

‘:‘.: N_.: q : Ne:_.\,l\ . ‘-._ ._.-_ :-\ {\- .‘: ;:\ ‘ \ﬁqq‘; _H-‘__‘
A i L1 at aw
# Euiﬁple Cligiﬂ& Qnaa\hnnﬂa----_ 10
-"‘ o 2 Q‘ \\ f:f\.,
o

""'lh‘\

- . -a-u—*“ii’h.l:h are th& Cﬁﬁﬁﬂ“ﬂ{ﬁf\‘snﬂﬂl movement among the following :

&2 R H AT [H') “Pemeptmﬁ nﬂhm::e (b)  Social Disorganization
;\” ~C*4~~ : 3“ {c}‘ Be]aﬁveﬂaphvauun () Al of these

P.T.O.
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toe 3 lmi R & %
3@ < o5 (®  Maharashtea
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(8 A—180--201a
(v Every social movement have its own
(2} Group (B)  Caste
(d  Law (i Object
BRI L E L o T —— Pfrm s
(@ wEw (5 =m
@ = (& 2am

(7)) ldentify the fajse statement of the following :
(#8)  Ramdev Baba is relatad to Right to Information
() Anna Hajare is related to Right to Information
(6 Anna Hajare is related to Lokpal
(d  Kiran Eedu: related to Lokpal
et qa faum e -
(&) - TR T Wl s v st
R = e ST
(0 fom ¥ devendt wan sk

(657 Daﬁt-Pa.t_lther.ﬂr&lniiati_uﬁ was established in.... ...
(a) 1952 : (b) 1982
(@ 1873« - () 2005
e do @ TR WL WE W
{3 19;2‘ tb) 1982
(@ 9n () 2008

PTO

BIFBDFOATEECIEVIOITA N1 IA IOV 0
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( 4 ) A—160—20713
Which of the following in the objective of Right ta [aformation 7
(@0  Removal of Corruption
(5  To bring transparency of Governanea Duty
(d Protection of National Resouress
(@@  All of the above
watata nfed sfen wme 2fe2 weE 7
(a) WRTIR ®H w0
(b) YTEHIM HEW TREEHA Ao
(@ U WYA WUEE T w0

- L

() =0a wd
“Baluta” iswﬁtt.en Y.Ll et
(&) Daya Pawar | (5) Namdev Dhasal
(¢ Raja Dhale ! () Ramdas Athawale
R T 1 TR R .
(@ T W@ | ) TR T
@ T wE " ; (@) TR HEAS
In 1984... wiessWAS urgmsad Women's Conference.
(a) Parkaja Miinde' ¥, (4  Pratibha Paxl
(a ’v!nhun Jushn 3 : () Sharad Joshi
- N S e m‘-ﬁ Afgen sfETA Sod B
(g YN G2 ' () Wi SRS
(¢ WEd = (@) g e

Explain the significance of social movement.

Theory

F7a44 HEd WE &

BAFBDFATELECIERIO FTANZS0NA IUVFW
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A—AG—2019
FACULTY OFF HNUMANITIES
B.A. (Third Semestor) (RRegular) EXAMINATION
OCTOBER/NOVEMELRR, 2010

(CBCS Maliern)

SOCI0LOGY
Paper VI
(Transformative Movement in Indin)
(Wednesday, 16-10-2019) Time : 2,00 p.m. to 4,00 p.m.

Time—2 Hours Maximum Mearlias—A40

N.B. :— (i) Al questions are compulsory.

(if)  Student must sce English questions.

@) wd W arfad ane.
(i) foareldt 4= et W uEE.

1. State the meaning of Social Movement and write the types of Secial
Movement. 15
e 2w A4 WE WEiee Teeee YeR TR W

Or
(feram)

Write the benefits of Anti-corruption Movement.
y=ER G Se=aes we famn
2. Evaluate the contribution of Dadasaheb Gaikwad in Landless Movement. 15
yféR Teadidel TRRIRE TEEAE 8 AR e F0
Or
(femem)
Explain the historical background of Peasant Movement.
e S Ut TR W

P.T.O.

B64902348B618CACEDO44791 ACF4BODA
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P
*Jl

Write short notes on any ene from Section ‘A’ and Section B' ;
Fwm R @ fwm s T T desn oo fom
Section ‘A’ 5

Significance of Social Movement
=) Effects of Dalit Literary Movement.

favm ey’
§) TETew Soses Ned
) Ite TEE S T

Section ‘B’ 5
3 Lokpal
(&) Origin of Naxalite Movement.

fawm ‘g
(&) SIERIG]

) TETaRl So9eg 3.

A—416—-2019 2
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A—88-—2018
FACULTY OF SOCIAL SCIENCES

B.A (Second Year) (Fourth Semester) EXAMINATION
QCTOBERNOVEMBER, 2018

|OCIOLOGY
Paper V11
i{Social Problems in Contemporary India)

AMOQ & Theory)
Thursday, 11-10-9018)

Disese 2 Hewurs

Time : 2.00 p.m. to 4.00 p.m.

AMaxrmium AMarfks—Aa0
MNE — Attempt Al questiona,

L All questions carry equnal mnarks.
LD This paper contains fen multiple choice questions.
(¢ = wrs @sm
() = gratm WS qm s
(e W weTsfyn g wgestf wew amo.
irvt Taorett g= vt wea gerda.

MCQ
1 Alultiple Choice Questions 10
m == :

D Superstitions are ound In oo,

+ BOCIOLY.
L) Rural

Lk Urban

L Trilinl

(ah L, () Al (b
L —— e anfgmneil
Led b 1.0 Lah L, L) Al @
PT.O
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N -HB=—201n

ndlbinn wonnsn'a slialud le

Caslbone

AL of thiese

arqany wigellen iRl o i

. |
s gt e Prov iy wl
expha!
L sty svslem L0
{5, Conabitution of luda [«
Lath sl (I
3 vl yeaem L

Whieh 15 the cause of Aoholism ¥

|.t‘

Poveriy (Rl
W Superstitions (e

st sl w2

R witss W
(@ HuE (h

il
aflen) el

'|.H1m|'u|u:n

All of thesa

Rimig]
alenl el

Who e the father of the concept of computer ?

i Charles (&
\a Microsoft L
WOV WHEYI W W 7

U 15 (b
(@ FEEEhwR (d)

ldentify the wrung statement 3
(& Social problems are universal.

(&  Social problems are ancient,

Bill Gules

Goorge

EIGRIEY
g

(& Social problems are both individual and universal.

(@ Social system is not affected by social problems.

TEm TR el
(q) WO OWEN EEe 3.
(B FETEE WY WY WEE ST

(o wefEs g Safws 8 Wi e
(@) SIS WS WHEEEet Ui g A,
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(et Which s the responsible factor of juvenile delinquency ?

() Delinquency area ()  Poor recreation
(@ Slums (dd Al of these
s Rl WEISER Wes wmv ?
(&) dvEry 2y (b TS WARA
(@ nfEran " (Tt ud
() lonformation Technology Article G6 i related to ... :
(@ Cyber Crime (#)  Corruption
(¢  Sexual Harassment (¢h  Gender Discrimination
il AR WER GG e g} AR MR,
() WEE T (h W
(@ dfie v (o TN
(vird Which is the main problem of Nomadic tribes ?
() Economically sound (5  Bdueationally developed
(%] Migration (¢h DPolitically sound
v ol e ywen werd ?
() oufdm WoEw (i Vfors ww

(& TIEn (@ TR el

Identify the correct statement from the following :

(ax)
atom is the cause of gender diserimination,

(@) Patrinrchal sy
() Social securily is the cause
Industrinlization ia the cause of gend

of gender diserimination.

or discrimination,
(d

(»  Urbanization is the cause of gender discr
wretetta) we favm e

(o fagaw s fErmle@ i AR,

o wfs e R finda o A

(@ Shafime ¥ fineR R .

(@ e ¥ fETRE S an.

jmination.

PO
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A—88—2018

10

10

10

(x)  Which of the following religions is not religious minorities in India ?
{2 Buddhist (b) Hindu
(¢  Parsi (d) Jain
et S o e Wit serEeE T ?
(9 Ry () T&
(¢ (d)
Theory
9. Define social problems and explain the nature of social problems.
qiTaE U #d Wi "EiE geeE e WE S
Or
(feram)
Elaborate the causes of Gender Discrimination.
famigyE s favg w0
3. State the problems of Religious Minorities.
Or
(feren)
Elucidate the causes of Juvenile Delinquency.
ATl T fawE w0
4. Write short notes on any twe of the following :
(1 Value Conflict
(1) Effect of Sexual Harassment
(i) Causes of Superstitions
(v}  Problems of Alcoholism.
weledm HUEE sMat gesd o fom
() Y@ WY
() wT g S
(i) FHYUsEHE H
(v} FEIGHTE] HEE
A—38—2018



This question paper contains 4 printed pages)
A—133—-2018
FACULTY OF SOCIAL SCIENCES
B.A. (Second Year) (Fourth Semester) EXAMINATION
OCTOBER/NOVEMBER, 2018
SOCIOLOGY
Paper VIII
{(Human Rights and Society)
(MCQ & Theory)
(Saturday, 13-10-2018) Time : 2.00 p.m. to 4.00 p.

Maximum Merks—£0

Time—2 Hours
NB — (0 Al questions are compulsory.
() Al questions carry equal marks.
(i First hall an hour 18 reserved for MCQs.
(svd  Negative marks for wrong answers are only for MCQs
(0 wd w3 wfad ania
(4 wd WA WA M A
(4N 9feen 3l am MCOQe Wi TElE am.
(sv)  TRIEM FENW TETOEW TN W MCOQs WE s

MCQ
1. Multiple Choice Questions : 10
Ayl
¥l cvrrerareeenineiiemesennnnnes 18 celebraled ng A World Human Rights Dax
() B March (2 Octaber
(@ 5 June (dh  None of these
(@) 8 wrd by 2 A
(@ &1 (@) W
"TO
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L

L

(v

(¥)

(vl)

(%) A—120—ayi2
Wi Rhte At i Tdia wis pased 16 the year
T (1960
W R00R (dy VOHI
VIR TR NI g e T g
W T (b 1950
W UG (e 1067
e, Nabanaheh Ambidlar is the architeet of o
(@ lndian Conslitution (h)  Clohal Constitition
(@ Wostorn Conglitulion (d) None of these
..................................... W ?..14 ma ;m'.m Zﬂ';,ﬁ.
(@ vl T (b ~ATE TR
(0 NER TREE (dy TR TH
tHow many articles are there in Indian Constitution ?
(@ 121 (h) 195
@ 295 (d) None of these
i e fd wem o 2
(@ 121 (b) 195
(@ 295 (d) = Tl
Which day is celebrated as ‘World Women Day’ ?
() 8 May (b 8 March
(@ 8 April (d 8 July
‘amies afeen fw' =R S fEw wen @@ @ 2
(9 873 (b 8w
(@ 8 Ui (& 8

Find out the correct match of the following b
() Consumer Rights Act, 1984 |
(b)  Consumer Rights Act, 1985
(¢  Consumer Rights Act, 1986
(d) Consumer Rights Act, 1987



A9 amin

WT ( d)
WS AW N FAw s
(g} TESR WF FE, 1984 (A TRF TFF W joas
(¢ s T Fml, 1086 (@) MR ETR WO jbay
(17 *National Service Scheme' ie rolated to
(&) Child (M Youth
(6 Old Age () None of theee
IW 'ﬁﬁT mr T C il wEvin an
(8)  STes (H MET
(@ I§ (el
8771 . v 18 celebrated ar a Child Day
(8) 14 Decembeor (M 14 June
(e 14 March () 14 November
e tyraw Raw o wiwg A ),
(@) 14 feday (14 W
(@ 14 W (@ 14 Dilay
(1x)  International Labouy Organization is related to e s
(2} Youth (M Child
(@ Old Age (@ None of these
e ) SR ST R e o
() Y% (& wers
(@ 9% () et sl
(&) Which of the following tribal communities does not reside in
Maharashtra ?
() Gond (& Nayer
(dh  Andh

(o) Isolam

ardfterta} worel sufeard WE WEST a2
() i (b IR

(@ e (Y
PT.O.
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Y
Vet
Vhnteie B Qpend D NEdE W La
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